o Completa.
- 4 m =
- ? m =

=12m=

cm

cm

cm

REPASO DE LAS MAGNITUDES

*Smy3em=_______cm
«8myi2cm = cm
*9my97cm = cm

e Traza una linea de la longitud indicada y completa.

s5cmy4mm »

+365mm b

9 Piensa y completa.

-gkm:
«7km =
*3km =

4. Completa.

*6kgy915g =
*7Tkgy 120 g =
*9kgy8g=

5. Completa.

-51=

=

cl

cl

m

m

m

9

Scmyd4 mm = mm
36 mm = cmy mm
*4kmy215m = m
*6kmy90m =
sSkmy3m=______m
+4085g = kg y g
*8.345g = kgy g
=3.092g = kgy g
=4 {y medio = cl
+ 3 {y medio = cl
*9{ycuarto = cl
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